Edexcel AS Further Maths Sequences and series o

Section 1: Summing series

Solutions to Exercise level 2
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50 50 29

szslo(rz —:2) = ;(VS —2)—;(1/3 —:2)

>(r-2)=Yr -3
r=1 r=1 r=1
= (¢x50* x51%) - (50 % 2)
= 1625625 —100
= 1625525

(%297 x30%) - (29%2)
=189225 - 5%
= 189167

i (I’3 —2) = 1625525 —189167F = 1436358

r=30

20 20 2

Drr-2)=)r(r-2)-Y r(r-2)

r=10 r=1 r=1

20 20 20

2//2 —2r= Zf’2 —IZZF

r=1 r=1 r=i
=(tx20x21x41)-2(ix20x21)
= 2870 — 420
= 2450

9 9 9
Sri-ar-3ri a3y
r=1 r=1 r=1

=(£x 9x10x19)-2(4x 9x10)

=285 — 90

:1:95
ir(r—2)=2450—1j5=2255

r=10
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Edexcel AS FM Series 1 Exercise solutions

2, i(r+1) (2r+1) = Zyb:(:zr'2 +3r+1)

n n n
=2) FP+3) r+ .1

r=1 r=t r=t
=2xzunn+1)(u+1)+z3xsnn+1)+n

=in(4n®+en+2+ 9n+ 9+6)

Lp(4n® +150n +17)
PM’CE'LVLQ w = 20:

X3+ B3XE5F+4XF+ .., + 21 x 41
=1X20(4X20% +15X20+17)
= 6390

n w4 r=4
3, Z(r +4)* = er —21/3
r=1 r=1 r=1

=2(n+4)(n+5)° —Ix4*x5"

1((n® + 9n+20)* —400)

=1(n* +184° +1210° + 3601 + 400 — 400)

Ip(n®+18n° +121n + 360)

4, The vth terme ts 2r(Rr — 1),

i(zr(:zr —-1))= 4—2!’2 —ZZiV
_ :4;§n(n+;)(:zn+1)—:2><%n(n+1)
=inn+1)(4n+2—-3)

=Inn+1)(4n—1)

n
5, er =ip*(n+1)?
1

20 2 n
2 2 i
ISR WD
r=1 r=1

r=n+1

2 2 2 2
=if(2a)(en+1) -:tn%(n+1)

ip? (4—(2% +1)P —(n+ 1)2)

Il
AR

n*(1en’* +1en+4—-—n*-2m—1)

n(15n* +14n + 3)

BN

Ip*(Brn+1)(5n+3)
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